Miss Hughes group —

7a. Yousaf is using straws to represent
tenths. One straw is equal to one tenth.

He says,

If | add 2 more straws |
will have made 0.8.

Is Yousaf correct? Explain your answer.
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7b. Isabel is using straws to represent
tenths. One straw is equal to one tenth.

She says

If | add 2 more straws I
will have made 0.5.

Is Isabel correct? Explain your answer.
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8a. Which is the odd one out?
A. B.
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Convince me.

[ seven tenths ]
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8b. Which is the odd one out?
A. B.
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[ nine tenths
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Convince me.
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9a. Order these numbers from smallest to
largest.
Record your answers as decimals.

9b. Order these numbers from smaillest to
largest.
Record your answers as decimals.
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one 6 three 2 7 two 4 eight
tenth 10 tenths 10 10 tenths 10 tenths
Smallest Largest | Smallest Largest
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